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B X 1 163, 899, 955
ps+ T = 1 9, 043, 080
JEHI T 2 1 9,043,080 |#RHI (HHBA) 6, 200 m3
+ab 3, 000m3LA b [EELE ;
b 1 =X
+wp CEHR - ERIRY LET) ;
e 1 =
B2 A couE
SRR T 2 1 27, 295, 200
SRR R AR T = 1 27,295,200 | SIS R 7V-0T « Ny bATR) 40.8 t
7V - DRI BA R AR AR
av))-MESE T = 1 16, 782, 747
i FEPERE T 2 1 16, 782, 747 | B A fks 345 m2
¢ 500mmPN 4t ;
Ak 207 m2
¢ 300~500mm ;
R PE PR L 2 1 53, 980, 199
EELT 2 1 107,909 |ERHE Y (EEI (BPB5)) 1 X
+4)
HmEEE 1 =X
HEL 1 2V
+4)
b 1 =X
b CEHR - ERIRY LET) ;
av) ) - MulBE T (552101 B%) =X 1 6,984, 796 |av/)-} 131 m3
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BEAEfr 380 m2
¢ 500mmFEFE ;
H HihR 20 m2
TR AHE R B M =10 ;
il o T = 4,531,925 |2v))-b 40 m3
18-8-40 (B JFB) —f¥ZRAE 2v)) - M MIEIH 4 ;
A 1 X
Pey 49 m2
¢ 300~500mm ;
25 1 =
BER Yy MLEE
HIEL = 31,204, 115 |t=700 ;
VAR 133 m3
(N =237 =})
18-8-40 (B JFB) —f¥FRAE 2v)) - M EEIHE 4 ;
VAR 79 m3
18-8-40 (B JFB) —f¥ZEAE 2v)) - M EIEIHE 4 ;
BEAEfr 441 m2
® 300~500mm X 2E% ;
BRI T 2 4,194, 289
e+ T 2 304,906 | B D 1 X
+4)
REE Y (HREI (BB5)) 1 X
+4)
HEL 1 X
+4)
HmEEE 1 =X
b 1 =X
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Rkt A =X 1 43,590 | VEmEER (8] 150) 30 m2
BGHNA WE L R OWE ML
YRR T = 1 268, 859 | WLFELAE 127 m
AR BBV 3R
BIRT 2 1 1,961,659 |FEEHEILL -V 144 m
VP& TSN 47" ¢ 200mm ;
W T 22 & Fr
W - BEE (M) 1 2V
MR R RY-} 127 m
W& 150 4777 ;
ATANT my) 1 2V 1 147,569 | AFA7 ny) 5 n
18-8-40 (Fi4F) 5
Al T = 1 343,980 |3/7)-} 9 m3
18-8-40 (Fi4F) 5
kL X 1 807,074 |4y /Kt 2 &30
18-8-25 (B4 ;
g 2 VE 2 m
VP& ¢ 75mm ;
il ko T 1 AT
$ 200X 7. 5K ;
il ko T 1 AT
¢ T5X7.5K ;
7K PR L 2 (&0
15 - 255K
WY HEAfE 2 m
MEARY BEV 3R
PR RY—) 2 m
W& 150 4777 ;
BER T =X 1 316, 652 |FEE M LL =V 4 m
VP& ¢ 75mm ;
fitg 2 m
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WY HEAfE 2 m
AR PEV 7
PR FRRY-) 4 m
W& 150 4777 ;
&L = 1 2, 148, 747
EELT = 1 299, 863 | FRHE Y 1 X
+4)
HEL 1 2V
+4)
HmEEE 1 =X
T wb AT 1 2V
0 Cadl- EHIRY £5T) ;
oyl Iz N = 1 1,848,884 |#¥JLavy)-h 18 m2
18-8-40 (B JF) = 10c m ;
VAR 30 m3
24-12-25(20) (BF) —fgAE v -MEEEIHE
40 .
i53i0) 0. 69 t
SD345 D13 ;
A 1 X
— A
B 1 X
BRRy ML
B 1 X
Ry M
KERG BT 2 1 43,235, 217
KERGRIEL 2 1 28,395,217 | AKEHE_E¥P THIE 1 X
k F ZKERE H=1, 250 W=800 1=30, 300 ;
T = 1 14,840,000 | HiZEp I A
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TEHX4y « Tfd - FER B Az £ & #A i il A R
A = 1, 968, 876
KET =Y 583,516 |K V7" HEK 1 =
(B 7 EPR)
12004 _E450 (m3/h) Kl #EEHEK ;
VB 1R T = 1,188,800 |{HHEBL LT/ 1 =,
8- H=1. Om 1000NATE/3cm 265 A ;
AEEHE T 2 196, 560 | 235 EE i 14 A H
SN AL T =Y 5, 251, 600
S BLERESE T Y 5,251,600 |lnafEz 1 =
[ERAE Xy = 163, 899, 955
HiE 2 = 13,211, 000
Mo R 2 = 1, 049, 000
BGRESGESE (5 L) = 1, 049, 000
B (FEHL) = 12, 162, 000
T = 177,110, 955
Bl gy = 35, 831, 000
T =5l = 212,941, 955
— R A = 32, 998, 045
TS = 245, 940, 000
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